Calc 3 Test 1 Review Buthusiem

1. Use the points P: (1, 2,3), Q: (-1, 0, 4), R:(2, -5, 6) to find E, P—R, @ then find
a. Féxﬁ b. @Oﬁ c. (@xﬁ?)-@? and know what each can be used for.

Find the angle between the vector P—Q and PR . How would you find the angle between planes?

Find the parametrization of the line through (1, 0, -3) and parallel to P_Q
Find the equation of the plane (2, 0, 1) and perpendicular to the line x =3¢, y=2—1, z= 3+41.
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Identify the equation and give as many details describing the figure:
a. 3x+4y—-5z+43=0b. x’+y’ +2°+9x—2y+10z+19=0

- bt
6. Using r(t)=(e”',—,— Find the following:
t t+1

a. The domain of ;(t) b. lim ;(t) c. 7(1‘) d. J.F(t)dt
=0
7. if a particle has acceleration vector @(f) = —32k and the given initial conditions v(0) = <3,—2,1> and

F(0)= (0, 5.2) . Find the velocity and position vectors.

~ 1,15 .
8. Decompose the acceleration vector of (1) = <t,5tZ g[> into the tangential and normal components when

t=0.
9. Identify the following surfaces:
2 2 2 2 2
a. y=x b. x*—y +z =1 C.z=y —x

10. Find the arc length of ¥ () = <t,3cos £,3sin t> ,=5<t<5.
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